Different designs for the newgeometry with shielding in the electron and pion generator
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The origin location of all the secondaries anywhere for 5,000,000 events

(Lucite at O degree, 16 cm Upstream Lead )
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The origin location of all the secondaries anywhere for 5,000,000 events

(Lucite at 22.5 degree, 16 cm Upstream Lead )
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The origin location of all the secondaries anywhere for 5,000,000 events

(Lucite at 45 degree, 16 cm Upstream Lead )
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The origin location of all the secondaries anywhere for 5,000,000 events

(Lucite at O degree, 26 cm Upstream Lead )
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Comparison of rates at the Lucite for 5,000,000 events

Rates

GHz/pA Rate of electrons
/Detector

With Lucite at (8.21+0.09) x 10~*
Odeg, 16cm
Lead

With Lucite at (1.23+0.01) x 1073
22.5deg, 16cm
Lead

With Lucite at (2.08+0.01) x 1073
45deg, 16cm
Lead

With Lucite at (2.34+0.05) x 1074
Odeg, 26cm
Lead

Rate of pions

(5.10 + 0.08) x 10~°

(4.78+ 0.07) x 107

(5.40 + 0.08) x 10~°

(6.13+0.08) x 107°

Rate of photons from Rate of photons from

: Pile
electrons pions

Pi/e

0.62% (1.2354 0.003) x 1072 (5.743+0.008) x 10°*  4.65%

0.38% (1.633 + 0.003) x 102 (7.06+0.01) x 10~*  4.32%

0.26% (2.161+0.004) x 1072 (7.504+0.01) x 10~ 3.47%

2.62% (6.18 + 0.02) x 1073 (5.059 + 0.008) x 10~*  8.18%

T->Draw("1","(rate/5.95e13)*(hit.det==8001 && hit.p<2*MeV && (hit.pid==11 || hit.pid==-11 || hit.pid==211 || hit.pid==-211 || hit.pid==13 || hit.pid==-

13))")

T->Draw("1","(rate/5.95e13)*(hit.det==8000)")

Note: 5.95e13 comes from 85*14*1079*50 to be in the unit of GH z/u A/Detector/simulation



Comparison of rates at the Lucite for 5,000,000 events

Rates
Rate of electrons

GHz/uA
/Detector

With Lucite at
Odeg, 16cm
Lead

With Lucite at
22.5deg, 16cm
Lead

With Lucite at
45deg, 16cm
Lead

With Lucite at
Odeg, 26cm
Lead

(1.66 + 0.04) x 1074

(2.97 + 0.05) x 10~*

(5.88+0.66) x 1074

(6.22+0.28) x 1075

Rate of pions

(2.794+0.02) x 1075

(2.66 + 0.02) x 1075

(2.63+0.02) x 1075

(1.626 + 0.005) x 10~*

Rate of photons from
pions

Rate of photons from

Pi/e
electrons

16.8% (1.235+0.003) x 102 (5.743 £ 0.008) x 10~
8.96% (1.633 + 0.003) x 1072 (7.06+0.01) x 10~

4.47% (2.161+ 0.004) x 1072 (7.503+0.01) x 1074
261% (6.18+0.02) x 1073 (5.059 + 0.008) x 10~

4.65%

4.32%

3.47%

8.1%

T->Draw("1","(rate/5.95e13)*(hit.det==8001 && hit.p>2*MeV && (hit.pid==11 || hit.pid==-11 || hit.pid==211 || hit.pid==-211 || hit.pid==13 || hit.pid==-

13))")

T->Draw("1","(rate/5.95e13)*(hit.det==8000)")

Note: 5.95e13 comes from 85*14*1079*50 to be in the unit of GH z/u A/Detector/simulation
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